FOEBEES1=Z7IILITIKRE [RfER]

Rt B 1202268 2B (K) REHRT: O—LIL/AALA AV =057 K&k -Bh BRI TER

15~17T% B F BMES 64 6930y HFAEBRF BMEL: 124 6485y INFEBF BME 128 I6HE: 49637

B 62 B E A B 1R (OUT/IN) JNE AL R E 4 B 1R (OUT/IN) JE{Z BiE % B 1R (OUT/IN)

1 MR IR FERIEN] 70 (32/38) 1 # K ArzIdkEEREBE] 73 (38/35) 1 Ak 1= BFE=/6] 74 (35/39)

2 Frih [BR #ERIIER] 72 (38/34) 2 BA EKER #EEF[2] 76 (39/37) 2 BiE HEIE  sFIU/Ne) 80 (39/41)

3 Bl BE ZXxAISE0R] 75 (35/40) 3 ERk i SHEPE] 76 (38/38) 3 FEE £ #E@E/6] 83 (41/42)

4 Jtk BN #EAENSN] 80 (40/40) 4 1EH R EBu=d[1] 77 (38/39) 4 Ikt E #AEDG] 84 (43/41)

5 & BE 2EBINSN] 87 (46/41) 5 #H KHEE mEF0p[1] 82 (40/42) 5 &% [ PN AN 88 (46/42)

6 /MUEB RHE FEBEINSER] 88 (43/45) 6 mHH #HE BRfEshi] 87 (43/44) 6 KA I EAYING)| 93 (46/47)

RiGERE # FEARNIER] 7 IS ki EmED2] 87 (40/47) 7 &M WK FKE/6] 103 (51/52)
8 #EI £ @ES—H1] 89 (42/47) 8 HAR X BN 109 (58/51)
9 XIJIERE HFek FwE—R] 95 (46/49) 9 WA BA RIEZ/NG] 111 (52/59)
10 AFHF #EF2] 95 (45/50) 10 It I BEAE/M2] 113 (64/49)
11 HE Z#3 Bl—d0] 96 (45/51) 11 BR B 2504 113 (61/52)
ZEiE BHE W% #RAEPLS] REAFR 12 ZEfk K#  #A/MNG)] 125 (65/60)
hEE T F BINE%. 5% FEEE-5800Y /INFEETF BMEL:5% 5k 4963Y
JIE {32 mEE A B 1R (OUT/IN) [zt BiE % B 1R (OUT/IN)
1 #H HE ad] 71 (35/36) 1 1ER Y =g NN 70 (37/33)
2 Ak RE #ED] 71 (34/37) 2 Fyinv743 B ARYANGE] 75 (39/36)
3 FH EE Jnasn] 76 (38/38) 3 WA mB%E REZ/NG] 107 (49/58)
4 fER B2 #iAE2] 86 (40/46) 4 /K Y mAME/N4) 110 (60/50)
EEFE HALT EEHKTBDR REAFR 5 L RIE B/ 131 (71/60)

Ri5 7k HE —%/D3]

15~1THEF SINEH 5% 58 6,485Y

[zt HiE A B 1R (OUT/IN)

1 tRiE #wrt Bal 73 (35/38)

2 &% £ FERIEN] 76 (40/36)

3 &% EEX EB¥a2 77 (37/40)

4 K3 B =ERNEN 87 (42/45)

5 FEL EE RENEN] 88 (43/45)

Ri5 INgt EZ{E aaal




